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# RATIO is a comparison of two quantities. For example, you
might use a ratio o compare the number of students who
have cell phones to the number of students who don't have
cell phones. # ratio can be written a few different ways.

The ratio 3 10 Z can be written:

3
3:2or— or3t0o 2
yA
Use "a" to represent the first quantity and “b* to represent
the second quanﬁ‘rg. The rotio a to b con
be written:

a=bor£ora‘|'0 b

A fraction can
also be a ratio.

b
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ERXAMPLES: = five students were asked if they have a cell

phone. four said Yes and one said no. Whot is the ratio of

students who do not have cell phones to students who do?

1

1:4 or Z or1t0 4 (Another way to say this is, "For
every | student who does not have
o cell phone, there are 4 students
who do have a cell phone.")

What is the ratio of students who have cell phones to total
number of students asked?

4:5 or % or4to 5.

EXAMPLE: Julio opens a small bag of jelly beans and
counts them. He counts 10 total. Among those 10, there
are Z green jelly beans and 4 Yellow jelly beans. What
is the ratio of green jelly beans to yellow jelly beans?
And whot is the ratio of green jelly beans

to total number of jelly beans? O :
The ratio of green jelly beans to
green jelly . © O

Yellow jelly beans in fraction form is —-.
That con be simplified to M~
P 7

So, for every | green jelly bean, there are Z yellow jelly beans.
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Here's how all
of
fit

together:

REAL NUMBERS

43856542981502985089162919...




™~ A variable without a

We COLLECT LIKE TERMS (also colled COMBINING LIKE We could express this as 0a +a +71a | coefficient actually has

a coefficient of 1. So

TERMS) to simplify an expression—meaning, we rewrite the but it would be much simpler to
: . ) _ _ “Mm” really means “1m”
expression so that it contains fewer numbers, variables, and write 14a. and “k3” really means
operations. Basically, yov make it look more "simple.” “1k®> (Remember the
identity property of
“EXAMPLE: Ix - 3x + 5x iukipiicationt

EXAMPLE: Denise has b
apples in her basket. Let's call

(When there is o "—* sign in front
of the term, we have to subtroct)

each apple A Ax - 3x +5x = lIx

We covld express thisasd + 4 I£ two terms do NOT have the exact same variable,
+A+a+a+a bvutit would they cannot be combined.

be much simpler to write 0Q. When we puta + 4 + a

+ QA + A + A together to get bA, we are collecting like

terms. (Each term is the varioble 4, so we can combine EXAMPLE: Tm + 3y -lm+ Y+ 8

them with the coefficient of b, which tells vs how mony (The Tm and -Zm combine to make 5m, the 3y ond Yy

a's we have.) combine to moke 4y, and the constant 8 does not
combine with anything,)

When combining ferms with the same m + 3y -Im+ Y+ 8=5m+ 4y +8

vorioble, add the coefficients.

REMEMBER: A term 3ab can combine with 4ba,

because the commutative property

with a variable cannot be f multinlication tell hatab
=m— aoples combined with a constant. ORIt Cablon Jells sl aL

EXAMPLE:

and bA are equivalent!
in her pink basket, | apple SORRY—
in her purple basket, and ‘1 @ A =
opples in her white basket. %l\-'y gomsa,
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